FTE BHR
§7.1 SRR
JUAER B >0 A MRMAIXN [a,b] LRESMEL, d1x=a,x=b,y=0
Fy =1 (x) JiT B it 3 f P R T AR S A7 AE, i vH 530S 2
. (1) ¥lab]l#Egn ANNAXE 2 ={, =[X_, % ]:k=12,---,n},
Hrra=x,<x <x,<--<x,=b,id|z|= max (X, —X,,)

(2) JHFA NI X, % 1o FEIE, €[ 0 X ], EESEAIEL
> 1N ),

i kz:minf(|k)(xk—xk_1)ss,gf(gk)(xk—xk_l)sg max f (1) (X, —X,_) :

(3) Ve&>0,3650, V||z| <&, Hir maxf(lk)—minf(lk)<é,

Vk=12,-n. T4,

an;, (&)X = X1) — S| < kzn;[maxf(lk)—minf(lk)](xk — X, )<E.

Ui, lim Zn: f(E)X —%_)=S.0

[0 &

MEBE R 1 WERZ LR v(t) 1230, 5 AE i %] a 2
1 b IX BE IR IR] P9 12 0 A (AT A% L 2

& (1) R Be[a,b] 73 Fpn A~/ N T B z={1 =t o, tJ:k=12; -0},
Hrba=t, <t <t, < <t, =D, ic |z = max(t, -t,,):

(2) RHEEANSNNTEBE, 6 ], AEHE et t ], EEr A=k
Zv(ék)(tk —ta)
k=1

) Zn:minVUk)(tk—tkl)S L, anv(gk)(tk_tkl)gzn: maxv(l, )t ) ;
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(3) A v(t) /2 [a,b] LIRS 4L, # Ve>0,36>0, V|z| <&, kAT

maxv(lk)—minv(lk)<bi, vk=12,---,n. TJ&,

SV(E)(t —t ) — L < Y [maxv(l,) -minv(l )], —t,_)<é

X, lim Zn:v(fk)(tk ~t)=L.0O

[0 &

WBER 2 WAL F O IR F AL B B3 5ib AL,
WU I FHAAAI 7 503 F () A

MR 3 M T ARLLp(0) AT I A0 ELA, e A )y
U SR B A 5

RES 7.1 B £ AT B ] [, ] OB AL

(1) 4 [a,b] 481 n A NI I 7 =X, 5, %10 k=12, n}, Hork
8 =4« X, <X,< -+~ < X,=b, T[] = max(x, - x,.,) % [a,b] 11551 7 iy

(2) XA X X, x ] AT B S e[xey, x ] A2 AT K

Zf(fk)(xk — X)) s
k=L
(3) WIRAE 7 afT 533k, & e[Xy, X ] BT Bk, BAFAES PR AR R

lim > F (G~ %) =1

>0 &

UFK £ 75 [a,b] E (Riemann) WTBL JERRAT I | b 6 [a,b] 1A ()
B, A ook (Bra sy FHE, bR ERE, f(x) BBt
5, £ (0D B )
SR GERSMBAMR) #0651, g 4RI A [ab] L
B, ca, B e RAZHEL W
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1) ["cdx=c(b-a);
©2) f>g7E[ab] k= jb f (X)dx > j:g(x)dx;
(3) af +pBgthfEfa,b] LR, 3 H
j:[a F(X)+89(x)]dX = jb F(X)dx + 3 j:g(x)dx c (VMR
(4) j:f(x)dx: j:f(t)dt. (e R GRS )
EH 7. 1 (Newton—Leibniz 23\) #[a,b] FIESEREL f A IRKEF,
) f 7t [a,b] _ErI#R, 9f H
[ f(0dx=F() L= F(b)-F ().
BWGER : PR, BLG(x) R B2 E o AR,

IimG(X+hz_G(X) _ (%),

XYL G & f 7E[a,b] LA BB, i F(x) = G(x)+¢, Vxe[a,b].

T, j:f(x)dx:G(b):G(b)—G(a): F(b)-F(a).

PEMGERR : W ={[x_, % ]: k=12,---,n}&[a,b] F1%l, Hrha=x,
<X <X, <---<X =b. H Lagrange F{E & 2, nJHt e (X ., X ) 15

F(%)—F (%) =f () (%—%4), k=12,---,n.
B3 )% = DIF()-F(x )] = FO)-F@).
Ve>0,36>0, V||| <8, V& e[Xy, X JHB L

&
‘f(gk)_ f(tk)‘<g, vk =12,---,n.

> £ (G0 X, ) ~[F (b)-F (a)]

i F (G ) —i f ()X —%0)

< DIFE) - TN <Y Xk ) =
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il j f(x)olx_nmzf(gk)(xk X, ,)=F(b)-F(a). O

5IiE7 1 UasER, [ab] FRIES: R £ & 2 AR £ AR [A]
S R e A R R L
EH 7.1 B9HET (Newton-Leibniz 23) #[a,b] LT FIR %L f )5 bR

¥ F ) ["f(0)dx=F(x) L= F(b)-F(a).

iE: Wr={[x_,X%]: k=12---,n}E[a,b] mE], Hia=x<x

<X, <---<X, =b. i Lagrange e E B, Tt € (X, X, ) 7T
F(x)-F(x_)=ft)X—X_), Vk=12,---,n.

I i f(6)(XX,r) = i[F(xk)—F(xH)] —F(b)-F(a).

T, j f(x)dx—llme(t )(%—X,)=F(b)—F(a). O
&SR 7.1(P,,) 1(1),3,4(2),5,6(1,2),7(2,5),8.

IB]RE 7. 1(Pyg,) 1.
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§7.2 AFRELAIER
IR 7. 2(AIRBESRM) s f A RAIX (A [a,b] _ERTAR, WU
‘e nfE[ab] AR
iE: (KEVE) BoE f fE[a,b] ErfAR, B f fE[a,b] RIS, Al f
1 [a,b] BT E9E. 5 F [a,b] AT 240 3 e={[x_o, % ]: k =1,2,--,n}, f
WALEFEAS NI A [, %, 1 BTG B S, MO & e [, % ] (k = k,)
[ 58, ik &, e [X %, 1ALTERT £ (&, )E’J%j( fERefS 2

Z f (é:k)(xk Xk 1) > H H

XYL AN W] BEAFAEAT FRAR IR LiTOZ f(E) (X — %) » A5 | £E[a,b]

R R E. O
EE 7. 3@FRSXEIR RN W f 2 A RAXE[a,b] EREREL, ce
(a,b). # f 43 34E [a,c] Al [c,b] LRI ER, W) f 257E[a,b] LRI &,
# f fE[a,b] LRI AL, W) f 257E[a,c] A [c,b] LRI ER, shisff

[ £ o0dx=["f(dx+[ f (x)dx.

ME: AORAIRESE 1R St § 7. 6 [ Lebesgue e BEA5 2. X T-[a,b] 1

93 E 7, Joar mi g a=x,<x < <X, =C=Y, <y, <<y, =b, fEHL & €[X, 4, %]

(k=12,---,m), n.ely, .Y 1 (K=12,---,n), FHN T 5] 7 KRG Ny
Z FS)(X =% 4) + Z FmIYe = Vi)

e[ 00dc=lim {Z FE) %)+ D F (Y, - ykl)}

:L f(x)dx+L f (x)dx. O
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AE T [a,b] LRI RTERREL T, Z00E
(1) j:f(x)dx=—j:f(x)dx; @ ["f(x)dx=0.

TR, Va, B,y elab], sor | fodx= |’ f(x)dx+[f £ (x)dx.
TR 7.4 W RARMAXE[a,b] ErdEfESEREL, A4

(1) f20e [ f(0dx>0: (2) f=0e [ f(x)d=0.

iE: BRI (1) F(2) 2 [F—A ik, WO Rk ().

“ 7 fB5E 3%, e[a,b] i f (%) >0, WAFTE [e, A< [a,b], X, [, A1,
{673 ¥ x e [ar, ] AL F (x) - f(xo)\<%f(x0), £ (%) >% F(x,), #
7t 0dx=[" f (ax+[" £ (x)dx+ j; f (x)dx
20+J5%f(xo)dx+0:%f(xo)(,B—a)>O.

“er B O
EE 7.5 FE Mo EEE) Wkl f,g /A REX R [a,b] FIELL
7 g fE[a,b] EAMAER S, WAALFLE £ € (a,b) 115
[ 1009()dx = (&) g (x)dx.
VENHER, AFAE £ e (a,b) 11T
[ tx)dx=f (£)(b-a).
iE: AWk g=0,9+0, ik I:g(x)dx>0 it m=minf ([a,b]), M=maxf (a,b]),
M4 x e[a,b] B f5

m< f(x)<M,
1
I:g(x)dx

F(x)g9(x) < 9(x),

J: g(x)dx j: g(x)dx
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m<— ["f(0g(dx<M.
J, 900dx™*

J:f(x)g(x)dX<MHﬂL,Hﬂ LR A 2 BN, 3E €

(a,b) 113 f (&)=—

J, 9(dx

éu—j f()g(x)dx=m (=& M ) I, —j [f(X)—m]g(x)dx =0, #k

g()dx * g()dx *

[ £ (9g(x.

fg:mg (5% fg=Mg) (i B 7.4). Exage (a,b) 1 43 (&) >0, %
f(&)=m @ f(E)=M).O

Eig 7.5 Mg fE(ab) EABCEAER, 5B b EE B AR R
Cauchy e EH; HAER P HAERE Lagrange HHEH E PL.

HE: A H & fgfE[ab] L EE, G2 gftf[a,b] LI JE KA. H

C h E’%}E, 3 ,b /|‘3 H(b)_H(a) _ H'(é:) — f(é)g(é) — f ,
auchy HH{H ¢ Ee(a,b) it S-6@) 1) 0 (&)

11 [ £ 0g(x)dx=F (£)] g(x)ax.

A F & f fE[a,b] EAY R K%L tH Lagrange H{E 2B, I&e(a,b) 1
?%w: F'(&) = (&), EDL f(x)dx = (&)(b—a).

F—-RoPEETEEEHLARE LK.

%38 7.2(P,,) 1,2,4(2),5,6,7,8, 10.
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